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Intro

Today we will 7"pa learn 197 of mn2’ noon, and begin the
Fifth Perek 58513 121

To help us better understand the Mishnah we will begin
with a short introduction:

The Torah states that when a man dies without children,
one of his brothers is required to perform o2 or 7x°5n
with the Yavama.

o

Once X2 has been performed, the Yavama becomes the
wife of the Meyabem. Since the Mitzvah has been
fulfilled, there are no further obligations to the other
brothers, and the other wives of the deceased brother are
now free to marry anyone.

Furthermore, it is now forbidden for the Yavam, or
another brother, to perform nx>a with another Yavama,
because of
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So too, when Chalitzah has been performed - There are no
further obligations to the brothers, and the Yavamah, as
well as the other wives, are now free to marry. Further-
more, it is now forbidden for the Yavam, or another
brother, to perform x'2 with the Yavama, or one of the
other wives, because of
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anrn is when the Yavam gives the Yavamah puimp.

IRp ,7NN0 0 is not effective, because the Mitzvah can
only be performed through 7x°2 or Chalitzah. Therefore, if
one brother did amx», one of the other brothers would still
be permitted to perform X3, and she would become HIS
wife.

However, the Chachamim saw fit to initiate a 777, that
when one brother performs 7mx», the remaining brothers
are now prohibited to perform 718’2 with any one of the

Y evamos, 32771.
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Once NN has been performed,
the Yavama becomes the Meyabem’s wife.

The other wives
are now free
to marry
anyone

There are no
further obligations
to the other
brothers

It is now forbidden for the Yavam,
or another brother, to perform NN’2
with another Yavama,
because..
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When Chalitzah has been performed..

It is now forbidden for the Yavam,
or another brother, to perform NN2 with
the Yavama, or one of the other wives,
because...
n12 ROV D
N2 R W,

Is likepp1 T
It is not effective NN |»
because the Mitzvah of Yibum can
only be performed through nN’2

Z/ one brather did spn, one a% the ather brathers
would still be /zernu;#e/ o /aer/orm 2o,
and she wold become his w%o

However, it is 122970 TORXR
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Because, since R - which is Kiddushin - is similar to
7R3, in that they are both procedures to create a marriage,
one might confuse x» with X2 One might think that
justas mr» - which is Kidushin - although effective with
other women, is not effective with a Yavama - 18’1 is also
not effective with a Yavama, and allows the Yavam, or
one of the other brothers, to perform X2 with another one
of the wives, which would be Xn»71X7 710K, as mentioned
earlier.

Therefore, Chazal said that when one of the brothers
performs Ry, the remaining brothers are now Mor
13127971 to perform X2 with this Yevamah, or one of the
other Yevamos.

nrn is also effective in that the Yavama is considered his
wife 131297». Therefore, if he decides to give Chalitzah to
remove the Zikah, he is also required to give her a vi to
remove the R, They are both then 770K to marry each
other’s relatives, 13297, as in the case of a regular divorce,
707 7». However, the remaining brothers are permitted to
marry her relatives.

[92)

A similar 773 was established when one brother gives the
Yavamaa o).

7707 11, a V3 is not effective, since the Mitzvah can only
be performed through nX»a or Chalitzah. Therefore, if one
brother gave the Yavama a v, one of the other brothers
would still be permitted to perform nx°3, and she would
become HIS wife.

However, the 1327 saw fit to initiate a 77’1, that when one
brother gives the Yavama a v), the remaining brothers are
now prohibited to perform x°2 with any one of the

Y evamos, 132770,

Because, since Chalitzah and v are similar in that they are
both procedures to dissolve a marriage, one might confuse
vx with Chalitzah. One might think that just as v3,
although effective with other women, is not effective with
a Yavama - Chalitzah is also not effective with a Yavama,
and allows the Yavam, or one of the other brothers, to
perform 8’2 with this Yevamabh, or one of the others,
which would be X717 MOR, as mentioned earlier.
Therefore, Chazal said when one of the brothers gives the
Yavamah a v), the remaining brothers are now 3277 WOR
to perform nX°2 with this Yavamabh, or one of the other
Yevamos.

A vy is also effective in that the Yavama is now consid-
ered a divorcee, restricting both of them from marrying
each other’s relatives, 131277». However the remaining
brothers are permitted to marry her relatives.

So, we have established that when one of the brothers
gives the Yavamah a 91mxp» or a v, the remaining brothers
are not allowed to perform 718’2 with this Yavamabh, or one
ofthe other Yevamos.
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The Yavama is considered his wife)22)TD.
Therefore, if he decides
to give Chalitzah to remove the Zikah,
he is also required to give her a )
to remove the YDND.

are both then sot
7 marry each other’s

relatives, y>rsp, ay i the

case of re?al&r /Worc&,

DIUND //\/

The remaining
brother:

are /aernu‘#e/
o marry

her relatives

O

It is not effective N"NN |0
because the Mitzvah of Yibum can
only be performed through nN»2
4/ one brother gave w 4z, one % the other brothersy
would still be permitted to /zer/orm/ W,
and she would become his wl%@

However, it is 122970 NORXR

The remaining
brothers
are pemu’#e/
o marry

her relatives

are both then sot

fo marry each other’s
relatives, y>rsp, ay i the

case ofp /’W dvorce,

DIUND //1/

When one of the brothers
gives the Yavamah a 7ND ora D)
the remaining brothers
are not allowed to perform nN’2
with this Yavamah,
or any of the other Yevamos.
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So let's review

For a better understanding of this Mishnah please see the
introduction to this Daf, where we have established that
when one of the brothers gives the Yavamah a 9nxm» ora
vy, the remaining brothers are not allowed to perform x2
with this Yavamabh, or one of the other Yevamos.

Bearing this in mind we begin to review the first Mishna
in the fith perek - 58512 127

Zugt di Mishnah:

V3 IR VI PR IR HRODI 127

There were three brothers Reuven, Shimon and Levi. Levi
who married two unrelated women, Rochel and Leabh,
passed away without children, and they now fall for
Yibum to Reuven and Shimon.

If Reuven gave Rochel a v, Reuven and Shimon are now
prohibited to be Meyabim Rochel and Leah. Reuven is
also prohibited to marry Rochel’s relatives.

If Shimon then gives Rochel a v as well, Rabban Gamliel
says L) MR VI PR, the second vy is not effective, and
therefore unlike Reuven, Shimon is permitted to marry
Rochel’s relatives.

0 IR VI W DIMIR DD

The Chachomim disagree with Rabban Gamliel and say
that the second V) which Shimon gave Rochel is also
effective. Therefore, Shimon is also prohibited to marry
Rochel’s relatives.

So too, if after giving Rochel a v), Reuven gives Leah a v3
aswell -

According to YX'>12 117 the second w3 is not effective, and
Reuven is still permitted to marry Leah’s relatives.
According to the 0'»on the second v is also effective, and
Reuven is now prohibited to marry Leah’s relatives.

DafHachaim.org

When one of the brothers
gives the Yavamah a YONY oraDJ
the remaining brothers are not allowed
to perform NN2 with this Yavamah
or one of the other Yevamos
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Reuvenis
Reuven and Shimon also prohibited
are now prohibited to bep2»  to marry Rochel’s
Rochel and Leah relatives

9108 S0 129

02 N 2N

[=)pla) Jalakig)l

23 9N a2

The second D2
is not effective

Weﬁr&, Shimon
(‘A//aernw#e/ fo marry
Bochel’s relatives

The second D2 which
Shimon gave Rochel
is also effective.
W%or&, Shimon iy
also /bro/bééb'?‘e/ o marry
Bochel’s relatives

So too, if after giving Rochel a v
Reuven gives Leah ava as well...
The second D2 The second D]
is also effective. is not effective
Therefore, Rewven iy W%r@, Rewven
also /amﬁéééfe/ 1o marry

4 bermitted 1.
Leah’s relatives wper oy

Leah's relatives
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The Mishnah continues according to 58513 127

TR IR WD R

Reuven gave Rochel a amnxn. She's considered Reuven’s
wife, and he is therefore prohibited to marry her relatives.
Shimon is prohibited to perform nx>2 with Rochel, but he’s
allowed to marry her relatives.

If Shimon gave a 7mx» to Rochel as well, Rabban Gamliel
says RN MR IR PR, the second RN is not effective,
and therefore unlike Reuven, Shimon is still permitted to
marry Rochel’s relatives.

ARM MR TIRD W DR DI

The Chachomim say that the second »r» is also
effective. Therefore, Shimon is also prohibited to marry
Rochel’s relatives.

So too, if after performing mR» with Rochel, Reuven
performs x» with Leah as well -

According to 58513 127 the second Rn is also effective,
and Reuven is now prohibited to marry Leah'’s relatives.
According to the o»on the second mR» is not effective,
and Reuven is permitted to marry Leah’s relatives.

DafHachaim.org
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i \% is considered
R9 nI Reuven’s wife,
and therefore
Shimon is prohibited to heis prohibited
Rochel, but he is allowed to marry
to marry her relatives her relatives

N

YN DS
AAND B
NN NN

2 oxrbra 139
1N N9
MAINR NN

The second YONP
is not effective
W%Zr&, Shimon
m//bemu#e/ o marry
Bochel’s relatives

The second YDNP
is also effective
Wr%ar&, Shimon
'W/Wa/w'ééfe/ o marry
Rochel’s relatives

So too, if after performing yNn with Rochel
Reuven performs yNn with Leah as well..

The second YPND The second NN
is also effective, is not effective.
Bewven s now Therefore, Rewven i
/&ra/u,'édz‘e/ to marry o /&erm«;#e/ ty marry
Leah's relatives Leah's relatives

Yevamos 50 - 4



NPT
esl;'e‘l
Dedicated By:

187 M

5R513 127 continues;

72V IR 1272 R

Reuven performed &2 with Rochel. She is now consid-
ered his wife, and he’s prohibited to marry her relatives.
Shimon is allowed to marry Rochel’s relatives.

If Shimon also performs X2 with Rochel, Rabban
Gamliel says n>°v3 7R 12°v1 px the second X1 is not
effective, and therefore unlike Reuven, Shimon is still
permitted to marry Rochel’s relatives.

So too, if after performing x°2 with Rochel, Reuven
performs 782 with Leah as well. The second X2 is not
effective, and Reuven is permitted to marry Leah’s
relatives.

Similarly,

XN IR 7391 R

Reuven gave Rochel Chalitzah. Reuven is prohibited to
marry her relatives, but Shimon is permitted to marry
Rochel’s relatives.

If Shimon gave Rochel Chalitzah as well, Rabbi Gamliel
says nx'5m nR 1%°5n PR the second Chalitzah is not
effective, and therefore unlike Reuven, Shimon is still
permitted to marry Rochel’s relatives.

So too, if after giving Rochel Chalitzah, Reuven gives
Leah Chalitzah as well. The second Chalizah is not
effective, and Reuven is still permitted to marry Leah’s
relatives.

DR DI

1502 IR KD VIR

D159 X591 IR R

In the last two cases, the Chachomim agree with Rabbi
Gamliel that a second X3, or second Chalitzah are not
effective, and therefore, place no restrictions on marrying
her relatives.
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j % Rachel
is considered
RS plh) Reuven’s wife,
and therefore
Shimon is prohibited to  heis prohibited
Rochel but he is allowed to marry
to marry her relatives her relatives

P ri~ER )
The second N¥bN e
is not effective
Wr%&r&, Shimon

The second NN2
is not effective

3

3 v: ﬂzer%r&, Shimon

7% /aermo'#e/ fo marry
Bochel’s relatives

Mx/aerm«;#e/ o marry ﬂng

Bochel’s relatives ns’v:
Reuven then N‘”
performs NX5N nr"m
with Leah as well MmN
The second NXbn ﬂg’sﬂ
is not effective,
Rewven Mx/zemu#e/
to marry Leah'y

retatives

Reuven then
performs NN2
with Leah as well

The second NN2
is not effective,
Bewven ’w/zemmﬁ‘e/
o marry Leah's

Y39 BMASM retatives

MW 9mN 89 HaN

255 YN N N9
In these last two cases
the: Chachomim agree with Rabbi Gamliel
that @ second >¢+, or second CMZZM are not 7’%@0‘&{/&
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The Mishnah continues with various rules of 9x» and v
regarding one Yavam and one Yavama.

The first group of cases begins with Reuven giving
Rochel a 9mxn» first, and then either a v3, Chalitzah or
performed nxoa.

03N NN NP IRD VY

Reuven gave Rochel a 7, and then gave her a v;
a%bn N N>R

Rochel still needs a Chalitzah from Reuven to release the
Zikah, because the 03 only released the xr».

X5 MORD VY

Reuven gave Rochel a amx», and then gave her Chalitzah.
VWP IR

Rochel still needs a v for the xp.

521 RN WY

Reuven gave Rochel a amxn, and then performed nxea.
RN 1IN

He has fulfilled the Mitzvah of Yibum, and Rochel
becomes his wife.

DafHachaim.org

i 1o D3 - N2 MR VY

MO 13N 1YY
to release the Lilaty
because the s m(?/ released the sppn

FEHMY - NS Y

ainkri~=RiRa

/L/&/LM/' the Mitah g yaém/,
M?acwémwwf%& ”é
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The next group begins with Reuven giving Rochel a v)
first, and then either a mr», Chalitzah or performed nx»a.

AORD VYT VI N3

Reuven gave Rochel a vy, and then mx».

A%5m VI IR

Rochel needs a vj for the mr1», and Chalitzah for the
Zikah.

5Y31 03 NI

Reuven gave Rochel a vy, and then performed nx»a

7351 V3 1Y

Rochel needs a v for the 83, yet still requires Chalitzah,
because it was a 79109 N2,

YoM v N

Reuven gave Rochel a vy, and then Chalitzah

D153 %51 IR PR

There is no further action needed after the Chalitzah.

The Mishnah continues:

5Y21,00 103, 0RD Y PON

Reuven first gave Rochel Chalitzah, and then gave her
either nR», a V), or performed N2

D195 751 PR PR

In all these cases, there is no further action needed after
the Chalitzah, and Rochel is permitted to marry freely.

aNR e - Ba i

1R 1R

2y

N9 N9

mYOMY 13 Ty

byar - 1

1287 1287

gﬂ&

N9

MM 1) 1Y

por - 13 10

1R

YRt arialela NI

By - 1340 - e e pon

12IR9 2RI
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5N9 N9
%
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OR - If Reuven first performed nx’a with Rochel, and then ?snﬁ - EJ in: - ﬂmxm nwlﬂ ‘71’:

gave her either a mR», or a V), or Chalitzah
D192 IR IR PR
There is no further action needed after nxa. ]31&1 ]31&1

>2:/p
122)) &)

N9 plrh
%

YRt arialela NI

The Mishna continues and states that there is no
difference in all these rulings whether it was

IR 025 AR DY nvb:’ ’nw ﬁﬂR nn:’
81[1{6 Yavem with one Yavama - =N n:q‘, =N n:g‘,
TAR 05 MDY NY

One Yavem, Reuven, with two Yavamos, Rochel and

Leah - and details the various cases. ]:1R1 ]:1R1

However this is only true according to the opinion of the i ‘% §
. Chachomim who disagree with Rabbi Gamliel and state

VI INR VI W ANRD IR IDRD W, an bn1 l,nnl

The Mishna also states that there is no difference in all
these rulings whether it was

TOR DJ"? mna nw

I?él:hYavam, Reuven, with two Yavamos, Rochel and AN BV 118 58OM3 139
OR ARND AN ND e aMNH 8

R MY PO I P2 23 N 1) 2N ANND NN

Two Yavamim, Reuven and Shimon, with one Yavama,
Rachel

MDY W 12 MDY N
AN Y =nN oY

L4 P 12X 12X

§ %
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The Mishna now qualifies two of the earlier rulings:

SV23,03 103, RN OV PON

Reuven first gave Rochel Chalitzah, and then gave her
either, a ImRM, a V), or performed NN

OR

PO 0X NN, ORD Y DY IR
Reuven first performed nx°2 with Rachel, and then gave
her either, a 9mx», a vy, or a Chalitzah.

D193 X510 IR PR

A>nnapa

VIHNI P

Qo3

There is no further action required after Chalitzah - And
there is no difference whether the Chalitzah was the first,
second, or last action performed.

However;

DY IR PR AYAN RV 1012 720N

In the case of ix’3, only when it came first is there is no
further action required.

However 91021 v3»R3, if 71X’ was the second or latter
action performed,

D19 IR W?

There are requirements for Chalitza and a v3.

AN PPN

Rabbi Nechamia disagrees and says

IR PR 9102 P2 VRONA P70 PAIRO0 DARI A2 DN
oM

7R'1 is comparable to Chalitzah that there is no difference
whether the X2 was the first, second, or latter action
performed. In all events there is no further action
required.

Dedicated By:
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BYaY - 1 NI - AN TN pon
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DY Rom MR N
MO P2 - PRAND P2 - APRNa P
there i no //ﬁ&renw whether Chalit;
way f/L&%{/’Jf, second, or Wacﬁom/aer ymed

MOTIND KT A1 YA

oY NN N
However 4/0,9/ VMR, % Do way the second or laast,

ohs NN
There are ernfy/ar CM&?&/ and & ég

AN M3 29

MY AANY 9'YS AN
MO P2 PYHND A RN P
9D MNP
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The Gemara begins by explaining why a v and mx» are
effective with a Yavama. This has been discussed in the
introduction.

The Gemara then continues:

It was stated in the Mishna when nx’a1 was not the initial
action performed, rather a secondary action, it is consid-
ered an invalid 1x°3, and therefore requires both a vy and a
Chalitzah

The Gemara questions

D9 PINR W2 12109 AR2 1337 MR RHDYV RD

Why did the Chachomim say that an invalid 8’2 requires
Chalitzah?

The Gemara answers:

RIT 03 IR IR R IOR

VAT IR AR TP

7250 INR IR DN

In the case of 7x»a after a V) the reason is as follows:
Since vx and Chalitzah are both similar, if a X2 after a V)
would be considered a valid nx»a for Mitzvas Yibum, one
might come to perform nx»1 after a Chalitzah, thinking
that this is also a valid nx°3, and would transgress the o'
R NRT of marrying a Chalutzah, which is derived from
the Pasuk

PR P2 DR 712’ R TOR

1 ROw

712 RS W

Therefore Chazal initiated a 77’1) that a nx'a after a va is
invalid, and Chalitzah is required.

Dedicated By:
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The Gemara begins by explaining
why a2l and INY are effective with a Yavama

It was stated in the Mishna...
When NN2 was not the
initial action performed,
it is considered an invalid NN*2,
and therefore requires both
aDJ and a Chalitzah

e

IJ:'\ NN NRD) N
AYoS MmN 2 190D NS

NI 23 N N2 N MR

QNI NP
AN AN AN INYD
MY 13
2ok
Vi) 4
I S TR S XD N

D’ ,&'[a/f DA {.’ﬁ /e
W%&f& DD a%fer a 4 & iwalid
and C/m&fj@é/ i rWe/

Yevamos 50 - 10



IR MR

Dedicated By:

RT3 IDRD IR IR ON)

JIRD IR IR TV

TR’ MR R DIWD

In the case of 8’1 after 9mRn» the reason is as follows:
Since nxa and R are similar, if a X2 after a IR
would be considered a valid 1’2 for Mitzvas Yibum, one
might come to perform 8’1 after a Ix°3, thinking that this
is also a valid nxa. This would be an X087 Wo°R, which
is derived from the Pasuk

PAR 72 DR 732 XD TOR

NN IR D

DN PN

Therefore, Chazal said that a 802 after a 9nRp is invalid,
and Chalitzah is required

The Gemara continues to ask

0192 7PINR PR A0 735N R 1327 MR ROV ORD

Why did Chazal rule that when a Chalitzah is a secondary
action, it is still valid and requires no further action?

The Gemara answers

Mm% RP 1R, there was no need for Chazal to initiate a
RUPH

VT IR AROM A

%51 IR 7350 own?

If Chalitzah was given after a vy, it does not matter if one
would give Chalitzah after a Chalitzah

Srm pon i 5

Let him do as many Chalitzos as he pleases!

AORD IR AROA W
AR MR AR50 DWwn?

If Chalitzah was given after 9D, it does not matter that
one might give Chalitzah after nx»a

Because,

RV IR IR AR50, 1MORND 0272 KD 1 TORD IR 73O1 IOR
MR25 V)

Because when doing Chalitzah after 1mx», a v is needed
to remove the RN, So too, when doing Chalitzah after
7821 he would be giving her a v) as well. Therefore no
further action is required.

N7 R AN N2 N N

=)l A
N AR NN AN
N2 plal te)

2j0t
It

PON TS IN S8 XD AN

PN D o4 /'t/ - P OX ) )

ﬂwre%a/@ Do n%fer @ e i ivwalid
and C Wj@/p i re%m're&/

2

1327 AN NpD R
D95 [N IR 190D R N

20535 N1 N

2 3
meon meom
araviaks T ke

Loy fiten g = b5
Let him do wm/ngCWjoyw/w/dém/

mb g Ao
meon meom
AN TN NS N

Y Chalityah was given affer yppn
d?‘/owrwz‘fm#er %aﬂe?y@hfﬁ& ija/m%fer

MR R NN VX
1INRND VI YA RY M

DR NR NNHN
NRMY VI XY
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